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For many years Futura Company has purchased the starters that it installs in its standard line of farm
tractors. Due 1o a reduction in output, the cormpany has idle capacity that could be used to produce the
starters. The chief engineer has recornmended against this move, however, poirting out that the cost to
produce the starters would be greater than the current §8.35 per unit purchase price:

Direct materials
Direct labor
Supenision
Depreciation

Variable manufacturing overhead

Rent
Total production cost

Per Unit
5299
256
134
087
044
022

$8.42

Total

$57 20
$37.410

59,460

A supenisor would have to be hired to oversee production of the starters. However, the company has
suffcient idle tools and machinery that no new equipment would have to be purchased. The rent charge
above is based on space utiized in the plant. The total rent on the plant is $78.000 per period. Depreciation
is due to obsolescence rather than wear and tear

Required:

How much would profits per unit increase or decrease as a resull of making the starters? (Input the

amount as positive value. Round your answer to 2 decimal places. Omit the

response.)

sign in your

Profits would [increase

by

§

per unit
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Benoit Company produces three products, A, B, and C. Data conceming the three products follow (per
urity:
Product
A B 3 L
Selling price $70 50 $60 b
Variable expenses
Direct materials 2100 15.00 420
Other variable expenses _ 21.00 250 3780
Total variable expenses 42,00 37.50 4200
Contribution margin
Contribution margin ratio 0% 25 % 30%

Dernand for the company's products is very strong, with far more orders each month than the cormpany can
produce with the available raw materials. The same material is used in each product. The material costs $3
per pound with a maximun of 5,600 pounds available each month.

Required:

(a) Compute _contribution margin per pound of materials used. (Rouw
places. Omit the "§" sign in your response.)

d your answers to 2 de;

Cantribution
margin

Product A §
Product B 5
Product C §





